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4 cpeHpaa, 6 3aknanok, 2 neTnu. R15 e

80m, 60°, IV

2¢dpeHna, 43aknagku. R14 —aKT 3

1 wnsambyp, 3 dpeHaa, 4 3aknagku.

70m,30°, |; 40m,60°, IV; 60m,10°, |

40m, 75°, V; 10m, 200, |

R1 395%
K.T. 2 :|

2 dpeHnaa, 3 3aknagku, 1 KpIok. R12 15m, 80°, V; 10Mm, 70°, V

w
2 cpeHaa, 3 kpioka, 2 3aknagku, 1 netns Ha BbicTyne. R1 1@ xl:l 10M, 950, V|, A1; 15M, 900, V+, A1
1 wnambyp, 2 dpeHaa, 5 KplYbes, 2 3aKnazky. R10Q 25m, 90°, VI
2 wnsambypa, 2 ppeHaa, 2 kptoka, 1 3aknagka, MTO: 1 kpiok, 2 3aknagku. :| 15M, 950, V|, A1
2 dpeHaa, 1 kptok, 1 3aknagka, 2 wnambypa, UTO: 2 cdpeHa, 1 kptok, 1 3aknaaka. R9 @M& 10M, 950, V|, A2

3 wnambypa, 1 dpeHp, 4 kptoka, 7 3aknagok, UTO: 3 wnamb., 1 dpena, 3 kptoka, 5 3aknag.

4 wnsambypa, 2 dpenaa, 1 kpiok, 12 3aknagok, UTO: 2 wnsamb6., 2 dpenaa, 1 kpiok, 10 3aknag.
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20m, 95°, VI, A2; 5m, 909, V

R8 XX

20m, 100°, VI, A2; 5m, 80°, V

1 chpeHa, 1 kptok, 7 3aknagok, NTO: 1 dppeHa, 1 kptok, 7 3aknagka.

A
\'

e exx
W

10m, 110°, VI, A3

R6 @x
1 wnambyp, 5 dpenaos, 1 3aknaaka, UTO: 1 wnsmbyp, 5 dpeHaos, 1 3aknaaka. @ 10M, 95°, VI, A3
2 dopenaa, 1 kpiok, 3 3aknagku, UTO: 1 copera, 1 saknagka. AKT 1 10M, 95°, VI, A2
1 wnambyp, 1 kptok, UTO: 1 wnambyp, 1 kptok. R5 CD@ 3M, 1100, V|, A2

x

1 wnambyp, 5 3aknagok, 3 kptoka, 7 ppeHgos, UTO: 2 3aknaaku, 2 kptoka, 3 peHaa.

10m, 1009, VI, A2; 10m, 95°, VI, A2

4 wnambypa, 3 dpenaa, UTO: 4 wnsmbyp, 3 dpeHaa.
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12m, 1109, VI, A3

1 wnambyp, 4 pperaa, UTO: 1 wnambyp, 4 ppeHaa. R3 (D\U_I/ 3M, 1200, V|, A2
6 dpeHaos, 2 3aknaaku, UTO: 6 dpenaa, 2 3aKknaaku. & 15m, 80°, V
6 cbpeHaos, 2 3aknagku, UTO: 4 cbpeHaa, 2 3aknagku. R26\\ 15M, 800, \Y
2 dopeHpa ] [ 15m, 70°, IV
; R1, 20m, 90°, V

3 Gypa, 1 3aknazka, 1 dpeHa, 1 Kprok R16 Il __1 2 ! :
- - Ro, 30m, 90°,V
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